



Calcola quale numero risolve correttamente entrambe le equazioni.

1) $\underline{\quad} + 11 = 14$
 $14 - 11 = \underline{\quad}$

2) $\underline{\quad} + 3 = 19$
 $19 - 3 = \underline{\quad}$

3) $\underline{\quad} + 3 = 8$
 $8 - 3 = \underline{\quad}$

4) $\underline{\quad} + 4 = 8$
 $8 - 4 = \underline{\quad}$

5) $\underline{\quad} + 5 = 19$
 $19 - 5 = \underline{\quad}$

6) $\underline{\quad} + 3 = 18$
 $18 - 3 = \underline{\quad}$

7) $\underline{\quad} + 2 = 16$
 $16 - 2 = \underline{\quad}$

8) $\underline{\quad} + 4 = 13$
 $13 - 4 = \underline{\quad}$

9) $\underline{\quad} + 4 = 20$
 $20 - 4 = \underline{\quad}$

10) $\underline{\quad} + 2 = 14$
 $14 - 2 = \underline{\quad}$

11) $\underline{\quad} + 6 = 10$
 $10 - 6 = \underline{\quad}$

12) $\underline{\quad} + 17 = 20$
 $20 - 17 = \underline{\quad}$

13) $\underline{\quad} + 11 = 16$
 $16 - 11 = \underline{\quad}$

14) $\underline{\quad} + 5 = 10$
 $10 - 5 = \underline{\quad}$

15) $\underline{\quad} + 2 = 7$
 $7 - 2 = \underline{\quad}$

16) $\underline{\quad} + 1 = 17$
 $17 - 1 = \underline{\quad}$

17) $\underline{\quad} + 2 = 15$
 $15 - 2 = \underline{\quad}$

18) $\underline{\quad} + 10 = 16$
 $16 - 10 = \underline{\quad}$

19) $\underline{\quad} + 3 = 11$
 $11 - 3 = \underline{\quad}$

20) $\underline{\quad} + 1 = 11$
 $11 - 1 = \underline{\quad}$

Risposte

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____

15. _____

16. _____

17. _____

18. _____

19. _____

20. _____



Calcola quale numero risolve correttamente entrambe le equazioni.

1) $\underline{\quad} + 11 = 14$
 $14 - 11 = \underline{\quad}$

2) $\underline{\quad} + 3 = 19$
 $19 - 3 = \underline{\quad}$

3) $\underline{\quad} + 3 = 8$
 $8 - 3 = \underline{\quad}$

4) $\underline{\quad} + 4 = 8$
 $8 - 4 = \underline{\quad}$

5) $\underline{\quad} + 5 = 19$
 $19 - 5 = \underline{\quad}$

6) $\underline{\quad} + 3 = 18$
 $18 - 3 = \underline{\quad}$

7) $\underline{\quad} + 2 = 16$
 $16 - 2 = \underline{\quad}$

8) $\underline{\quad} + 4 = 13$
 $13 - 4 = \underline{\quad}$

9) $\underline{\quad} + 4 = 20$
 $20 - 4 = \underline{\quad}$

10) $\underline{\quad} + 2 = 14$
 $14 - 2 = \underline{\quad}$

11) $\underline{\quad} + 6 = 10$
 $10 - 6 = \underline{\quad}$

12) $\underline{\quad} + 17 = 20$
 $20 - 17 = \underline{\quad}$

13) $\underline{\quad} + 11 = 16$
 $16 - 11 = \underline{\quad}$

14) $\underline{\quad} + 5 = 10$
 $10 - 5 = \underline{\quad}$

15) $\underline{\quad} + 2 = 7$
 $7 - 2 = \underline{\quad}$

16) $\underline{\quad} + 1 = 17$
 $17 - 1 = \underline{\quad}$

17) $\underline{\quad} + 2 = 15$
 $15 - 2 = \underline{\quad}$

18) $\underline{\quad} + 10 = 16$
 $16 - 10 = \underline{\quad}$

19) $\underline{\quad} + 3 = 11$
 $11 - 3 = \underline{\quad}$

20) $\underline{\quad} + 1 = 11$
 $11 - 1 = \underline{\quad}$

Risposte1. 32. 163. 54. 45. 146. 157. 148. 99. 1610. 1211. 412. 313. 514. 515. 516. 1617. 1318. 619. 820. 10